
Notice that l contains the point C- I
, 2,2) Cwhen t -

. o )
,

but L does not !  -3C - D +512 ) - 2 = 11 ¥3
.

The point of intersection Pi ↳ yz ) is  on l
,

so there's some t

such that { x
-

-

- It 5 t

E: 3 .

But P is also  on L
,

so 3xt5y - t  =3
.

Substituting
,

3 C- Its t ) +5C 2Mt ) - (21-57)=3 .

We  conclude that t '

- it .

Thus P -

- ( - I +51¥ )
,

2 t 4ft )
,

2x 55¥ ) )

=IC-I,¥i⇒I
Let 0 be the desired angle .

Then A

is complementary to ¢ ,
the angle between l and a normal

vector to L
.

!i¥Eo
"

,
Yeah:?575. -13 and e has direction

Thus cos of =n.vrg.is
.  f- E )

.

Since O  and of are  complements
,

we get
sin O  =  cos of =

,
i.e

.
IQ=arcsi#



Let y =L - I

, 5,27 ( a  direction vector for l )
and n -

- s I
,

3 ,
-77 ( a  normal vector for L )

.

Notice that v • n
= - It  15 - 14=0

,
so  x  and n  are perpendicular .

Thus either l is inside L o - l is parallel to L
-

But C- 2
,

-3
,

2) c- l and C- 2
,

-3
, 2) ¢ L C since  -2+3 C-3) -763=-254-2 )

so l is it inside L
.

We  conclude that land L are parallel .

Since  -2+31-3 ) - 712 ) = - 25
, Candy

. ,

- ta, ,t3f5t) -71217=0 ) ,

We have that  all points on l satisfy

1×-131-72=-257-

The plane M :  xt3y - 7z  = -25 is parallel to L since they

have the same normal vector .

This is the same as the distance from L to M
,

um is 4I?,I=¥rI .


